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AND PBBBSUBS 07 VAPOUR.

THE TEAR

s = — -0021 4- -0237 9in (9 + 144° 46') + -0040 sin (2 + IW H')
+ -0026 sin (8 + 16" 89')

PRESSURE OF VAPOUR.

The average cluiages io the pressure of vapour ia two hours that

accompany wiada from the eight principal points, and the formula: for

finding the most probable change, with the wind blowing from any

intermediate point, are given below :

APRIL TO SEPTEHOBR.

-'•QOA.T TT-'0O34 4- -0020 +'0035 4--0042 -^r-QOai —'Oois — -0069

OCTOBER TO MARCH.

—.•0026 4--0()0» -lr-003t 4--o631 -\--0i)X1 —•00(13 —-0032 —•0039

THE YEAR.
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—•0041 —•0012 4-^0026 +^o63.4 ^•QOU -r-^OOth^ :r--Q04« —-0064

APRIL TO SEPTEMBER.

*i = — •00160 4- •00607 Bin (0 + 305° 49') + • 00096 sin (2 + 88° 48•'^

4- •00110 sin (8 4- 181° 2')

OCTOBER TO HARCH.

«»— — •00018 4- •0OSS6 sin (0 \- 330° 26') 4 •00034 sin (2 4- 287^ 6')

-f •0QO22 sin (3 4- 243° 26')

THE TEAa

a =— -00084 -f -00479 sin (0 4 312° 43') 4- •000S6 ^in (2 0+ 86° 44')

4 -00087 sin (8 4- 216° 16')

If in the nine foregoing formula), the variable angle (&) be made

equal in succession to 0, 11" 15' (11® 15')X2, (11'' 15') X3, &o.

&q. ...... (11* 15')X31, the changes of pressure will be found which

would most probably qccur if the wiqd were to blow steadily for two

hours from each of the thirty-two points of the compass.

The results are given iu the annexed Table.


